Apartment in Senglea



Reference No: 240221028-82

Senglea, South



€800,000

Total Rooms: 5

Bathrooms: 2

Floor Area (m²): **187**

Bedrooms: 2

Apartment - For Sale - Senglea

SENGLEA - A brand new block being offered in a prime location on water's edge of this sought after town. This apartment comprises of an open plan 9 meter Kitchen/Living/Dining enjoying spectacular views, 2 double bedrooms (main with en-suite and a 22 sqm terrace) and a guest bathroom. One of the bedroom also enjoys unobstructed sea views. Also complementing with magnificent property, is part ownership of the roof measuring 50 sqm where one finds a pool, ample entertaining and decking space with one of Malta's nicest views of the Grand Harbour. It is being offered with an option of finishing (traditional Maltese or Modern).

Features

- En Suite
- Electricity Utility
- Passenger Lift
- ✓ Pool
- Balcony

- Water Utility
- Gypsum Plastering
- Double Glazed
- Terrace
- Roof Terrace

Rooms

✓ Bathroom Ensuite : 2 x 5.2 m (10.4 m2)

✓ Double Bedroom : 5.1 x 4.8 m (24.48 m2)

✓ Double Bedroom : 3.2 x 5.5 m (17.6 m2)

✓ Bathroom : 1.6 x 1.9 m (3.04 m2)

Kitchen/Living/Dining: 9.1 x 3.5 m (31.85 m2)

Gallery





































Manuel Borg RE/MAX Excellence - Piazzetta

M: 79494425

E: manuel@remax.com.mt

T: 21341341

RE/MAX Excellence - Piazzetta 114B,Tower Road, Sliema, Malta